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. . Co 1
Use LTspice to verify that this circuit has a resonance frequency of @, =

QO 3160 ®

= 100 uF
L

¢ \ vad
&, = ~ R 833% fs

(1310s x107) - (31) (loo x0)”
! we . 83% ~ 4

2 Nn

See Hae cthcked pegs

The creat bs punk tmpedance 1 < essen bmWy

rel Lor Kg £> footie a bee Praga bud @

|2.| = R= 3len.
There really is wa sigle frojucney of somone.



Ee)

=

>

=

a

Zs

or

ie

ia

r
&

&

a

id

—3

F

5

Ff

9

F

§

§

FT

Tw

tl

:
)
:
:
:
:
;

:
:

i
”

ji

:
:
;
:
:
:

:

{ih

U

:
:

:
:
)

:

=i

:

:

;
:

:
:

a
ow

:
:
:
:
:
:

i

er

EEEtfreeee

poossno

fonnnes

TIETEEes

theres

ie

is

Poo

E

ooh

iB

:

:
)

:
)
:

=

EEfee

Bat.

Eases

Load

bea

Lr

d

:
)

)

:

:

ba)

:
:
:
:
:
:

0

:

:
!

:
;

i

o

:
:
:
:
:
:

oh

eee

Foomees

Beemoeed

oomn

demoed

=f

)
:
:
:
;
:

ry

:

:
:
:
:
:

ag)

:
:
:
:
;
:

CE

a:
:

:
:
:

=

:
TTTTYYT

Eoin

oo

TTT

3

:
:

:
:
:

0d

)
:

:
:
:

oO

:
:

:
:

:

od

=)

ER

bemoans

fom

fhe

>

:
:

:
)

:

mn

:
:

:
:
:

o

:
:

:
:
:

-

:

:

:
i

:

H

:
:

:
:
:

=q0

FrEEFee":ReesNesssEEs

{EERE

=
jw

:

:
:
:

=
j-

:
:

:

I

:

:

:
:

s
|b

Pod

ae

oY

bbNA::
=|

2

ii

lo

~

:

18

=

£

:

)

!

210

Wo

Be

:

:
:

SIs

DoAD

=

:

]

;

Sle

Hm

2S

AS—

)

fesse

i

Ee

=

s

:
:

:
i

Tq

=

5

:
)

:

:

“im

=

z

:

:
)

wim

oNO

“

:

|
annet

)

lm

o

5

|

prom

Fo

SE

SEER

hala

fumes

hese

Fi

mz

=m

-

:

=

em

DoH

HH

Ee

iB

es

=

N

:

'

=z

|

Uo

<

:

:

M3:

XY

Hae

D

<
0

:
1

1

1

;;:
:

=

4

oo.

EE

>

=

=

=

2

2

=

2

2
2

i=

fl

ws

§
§
5
FE

§
5
:
3

:
§

%



27°

18"

=

&

wees

I

wl

cemmneen fog

[2]

22i.::::):

JIa

Vit)

31a
100u

1 1000

AC
10

100

atl Frabder |

wy3340% homework Spring 2022 EE 3340 Problem 028

0

WEE

LAC dec
cand

wig Sold EE

As
VviHo

320\fi----

BOY - noone
Tolle 5:5 wos snsmns was ss wana

120V=

40V
0.3KHz 0.4KHz 0.5KHz 0.6KHz 0.7KHz 0.8KHz 0.9KHz0.2KHz0.1KHz


